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qff Tflt 6r cfta{.\'6 ff +<t qtrq t

Can the Gross Domestic Product (GDP) be taken as

a measuring rod for the development of a nation?

Also, discuss the robustness of the Human

Development Index (HDI) as an indicator for the

sam€. ( 10,5)

Fr <t6-f, Aqrm< (frS.ft.) 6] ffi rrq + ft-ors +

qrr6't{ i w I ftqr ur v+m *? ** 6 ft+m + €-d-+-

* sq il cr+q fu*r€ {q-6rr (w.A.ar{.) d qqEft qt qai

qir

Explain, drawing examples from the economies of India

and China, how general structural and political

economy issues influence the course of economic

development of a nation. (15)
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q6 6B{ * AB-{ rstrftq +, eB-{ trq cq t E€
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8. Write short notes on any two of the following:

(a) Concept of mobility matrix, drawing imaginary

mobility matrices in cases of perfect mobility and

perfect immobility of countries.

(b) Distinction between the functional and personal

distribution of income and its importance.

(c) The imperative of secrecy makes corruption more

distortionary than taxes.

(d) Proximate causes for differences in incomes of

nations. Q.5x2)
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(e) onltr* A-qT{ i ffi ,isf, + {-{si n {dTs fr- rurf

3{frsror friT rI-S 3{fr{itr t dfr p5.a dql 3,

Examine, employing a game theoretic model, why

neither the state nor the market is uniformly

successful at sustaining the common property

resources. (15)

(a) Discuss the robustness of Coefficient of Variation

as a measure of inequality.

(b) "Measuring poverty at a local level is
straightforward, at the national level it is hard but

manageable, but at the level of the world as a

whole it is extremely difficult." Discuss.

(s,10)
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where, X = Number of individuals at a particular

income level; Y = income level

(i) Calculate the Gini coefficient and coefficient of
variation in the societies A and B.

(ii) What can be said about the inequality rankings

and the Lorenz Curves of these two incorne

distributions?

(iii) Calculate the Flead Count Ratio in society A

and in society B, if the poverty line income in

both societies is 50 units per person for a given

time period. (10,2,3)
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3. Following is the income distribution in 2 societies -

namely A and B:
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(ii) e+ * 3{rq Err!+- d srqcr+dr tBt Bfu iftq qm d
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qR ffi (mfr t rrfre t€r d onq vo fift+6 sqq

ssE + frs cFr qk so qH-c *r

According to the Harrod-Domar growth model, the

savings rate plays a crucial role in determining the

rate of growth of a country's per capita income,

whereas the Solow growth model predicts that a higher

savings rate cannot lead tt sustained long-term

per capita economic growth in the absence of
technological progress. Explicate these claims.

(15)

*fu-+R G"+.r€ rf-sd * sqw, qqe et ffi trr q1 ffi
qfu snq qi1 gk et s] fufFfr fii t aE-€qlf Tft-sr
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Blrffim frfir€ qff A r6iir ir g+ eri * qrcan etr

(a) Explain the economic growth with technical

progress arising from deliberate innovation fostered

by allocating resources to R&D activity.

(b) Explain how conditional convergence differs

from unconditional convergence within the

context of the Solow model of economic growth.

( l 0,s)

(u) a-guum re E-6rt rRGfu + fts ttftrn + ilTq-.{
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